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Algebra 2 Practice Final 2017
(Chapters 5-6)

For Questions 1-2, simplify. Assume that no denominator equals 0.
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16. Determine the equations of any vertical asymptotes and the value of x for 16. X = s
. x2-11x+18
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20. Determine whether y = 1.5 (%) represents exponential growth or @

For Questions 21-25, solve each equation or inequality.
Round to four decimal places if necessary. } . o3
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26. Use Iogs 2=0.4307 and logs 3 = 0.6826 to approximate the value of
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27. Express logg 19 in terms of common logarithms. Then approximate its
value to four decimal places. 25.
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28. In a certain area, the sale price of new single-family homes has increased
4.1% per year since 1992. If a house was purchased in this area in 1992 for
$75,000 and the growth continues, what will the sale price be in 2010? Use 27.

y=a(1+ )" and round to the nearest cent.
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